temp DegF

temp DegF

temp DegF

temp DegF

jan14 turret room temp

90 F ‘ 1140101
o 3140102
85E J140103
80— 3140104
E 2140105
75 2140106
= % 140107
70 = —_
65 =
60 E ‘ ‘ ‘ 3
0 10 15 20
hour of day
jan14 turret room temp
90 F ‘ ‘ 1140108
o 3140109
85 F14011¢
80~ 140111
C 4140112
75E 140113
E I H140114
70 = —_
65 =
60 E ‘ ‘ ‘ 3
0 10 15 20
hour of day
jan14 turret room temp
90 F ‘ ‘ 140115
= 3140116
85 1140117
80~ 3140118
- 4140119
75 == =140120
= 2140121
70 = —_
65 =
60 E ‘ ‘ ‘ 3
0 10 15 20
hour of day
jan14 turret room temp
90 F ‘ ‘ 1140122
o 3140123
85 B 140124
= g
75 140127
F———— 3140128
70 = — -
SE 3140131
60 . . . . I I I . 1
0 10 15 20
hour of day



